=g 2025 £ JECKZE (AT

2025 FE SHUKZFE (FUHH)

(IE#% SAERESRS - 12063J N RRBE

B {an} 200 D~@ %t TS HBI 2§ 5.

O FRTOAK N IZOVWT a, > 0

@ a; = 2560

® ai + as + a3 = 4480
ik,&=1§ﬂgﬂ%t8<ouT®%hK%iiotﬁb,kQNZZQ%IKTéo
(1) %5 {an} OBz n 2 HWTEY,
(2) S, MEmAKLmDEED N OfEERD &,
(3) |S,| BN B 2D nOfEERD X,

a % EROTERE T2, O 2L 2 EEFH 2 EET 50 P ORIl 1281 2% (x, y) »
! DR E LT

r=e%cost, y=e¥sint

TRIND L F, ﬁiﬂt&:ﬁt&é,ﬁP@%fE%?z(%, %) TERT, UTOMWIEZ X,
axr o0 Y L o
(D di B&LU dt &R &,

(2) At zB I3 EPOES | T 2k k.

(3) P =0P B, BAtIzBWT, p LT ortfar00<0<7)r35, cosd%armnT
£, QLI SRVENTHD 2 L AR,

(4) (3) TEDHM O D0 = % THBLE, wlawRkD &,

B wurosz
F(@) = 1= (z+ 2%z —2)?

CEDD, 0t =1 Zi-3FEEt izl T, BRy=teillifty=f(x)ick-oTHENZIHEE vy il
DFAVIZ ] FEXETTELMEEEOEREEZ V() BL, UFOMWZEX X,

(D) ity = f(x) LEYy =t OKEO x A kT2 %, B2 2TRTRD &,
(2) V() %t %HNTEY,
(3) V) om/MiE, oL ED Lt DfizRD X,

https://www.uee-math.com/ © K232 - BoEsh B makoto



=g 2025 £ JECKZE (AT

B cowema>0isL, Ty T OB Y = 3 xLO) ( 5—) (ELLX0) B3
Wi CBE LT, T =1 LT 4 T 5, Lﬁ@ﬁﬂu\a Az k.

(1) #En 0% a, t ZHVTEY,
(2) Ef L OIEE%E a, t ZHVTRYE,
(3) Bl IFtIZkoVW—DDEEEES Z & 2RY,

https://www.uee-math.com/ © K232 - BoEsh B makoto



=g 2025 £ JECKZE (AT

2025 FE SHUKZFE (FUHH)

(E_?gg (mggg)J NOE, BRI
(1]
(1) a,=5-210" 2) n=12 3) n=24
(D Cfi—x = e¢“(acost —sint), % = e”(asint + cost)
@) |T1=Va®+lex (3) cosh = JZLH’ FEHE AR
a
(4) a=43
(1) K =41+ D) @ V@) =4r (L —rva?)

(3) %dx@:%ﬂ (,:%)

4]

2 2 42
D y=—4@-D+4,; @ Lt
(3)  FEHIZENE

https://www.uee-math.com/ © K232 - BoEsh B makoto



